+Smarter

Grades 6-8, Claim 4

Example Item 4D.1b (Grade 8)
Primary Target 4D (Content Domain SP), Secondary Target 1] (CCSS 8.SP.A), Tertiary Target 4E

This scatter plot and line of best fit show the Average HElght and Mass

relationship between the height and mass of 15 for 15 Dog Breeds
different dog breeds.
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The mass of the Afghan Hound is less than would be E 45
predicted by the line of best fit, and the difference i
between the predicted mass and the actual mass is g’
greater than for any other breed. E 30
S’
Click on the point in the scatterplot that corresponds w15
to the Afghan Hound. g
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Rubric: (1 point) The student clicks the point that below and farthest away from the graph (see figure).

Average Height and Mass

Response Type: Hot Spot
for 15 Dog Breeds
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